H & 0l & AHS B Ml A

SN BB
HE: AAYH 2
o9l HEMDISUE EX
SN - BE - SA(B) - NRAY - BES 0 & ol o
AASTY 6,509,978 5,929,933
2 384,371 375,171
2 240,554 240,554
| 1,261,862 1,232,786
= 744, 7% 702,863
2 3,958,3% 3,378,559
AT 29 2,991,309 2,460, 151
2 365,308 330,308
| 208,408 201,569
= 428,812 387,876
2 2,008,781 1,540,378
ENREEEESY 2,711,822 2,180,664
2 365,308 330,308
o] 81,245 79,426
= 404,919 363,983
2 1,870,350 1,408,947
LIRS AlZHl € Fb A 36,000 0
= 10,800 0
2 25,200 0
307 212H01 3,000 0
= 10,800 0
2 25,200 0
TEEEIEETI 36,000 0
oHA=T S Azt
1,000, 00024362 3,000 0
= 10,800 0
2 25,200 0
Lol 200i2| 0|S KIRAY 1,600 0
= 480 0
= 1,120 0
307 212H01 1,600 0
= 480 0
2 1,120 0
NEEEIEET] 1,600 0
oueles 242 0lS X
200, 00024483 1,600 0
= 480 0
= 1,120 0
S ERE 1,764 2,520
= 756 1,080
2 1,008 1,440
307 212H01 1,764 2,520
= 756 1,080
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A2S&
HAEM 2H
NELDHSHHE FX &)
SH - S(3H) - IRAY - BES 7l 3o %
= 1,008 1,440 A432
01 2= ¥ 3I=H| 1,764 2,520 ATH6
oote HAXlE At
Z3 832,000 2% 1,764 2,520 ATH6
< 756 1,080 2324
= 1,008 1,440 A4
FAEME olZH| XIJ 2,200 900 1,300
J| 1,100 450 650
< 550 225 325
= 550 225 325
308 AXIHMSO0I& 2,200 900 1,300
J| 1,100 450 650
< 550 225 325
= 550 225 325
13 BI 12 SOICHEHE A X LAE AL 2,200 900 1,300
oHAENE oz
23 1,100,000+ 2,200 900 1,300
J| 1,100 450 650
= 550 225 325
= 550 225 325
ADAOL AZ2e| & FIHKIE 106,893 35,160 71,733
= 32,068 10,548 21,520
= 74,825 24,612 50,213
308 KXIHMSOIH 106,893 35,160 71,733
= 32,068 10,548 21,520
= 74,825 24,612 50,213
13 I 2 S0IeHE & A AL 106,893 35,160 71,733
S AZAIMO =0
28 1,505,5302 7198 106,893 35,160 71,733
< 32,068 10,548 21,520
= 74,825 24,612 50,213
AR Ao A2 2e] K12 (KEHl) 53,067 0 53,067
308 AXIHMISO0I & 53,067 0 53,067
13 S 2SS E AR PEAL I 53,067 0 53,067
o A2 AIMO &0
1,516,200&*35H 53,067 0 53,067
HASESE JIMA - ZH=ER XA 124,616 74,616 50,000
= 62,308 37,308 25,000
= 18,692 1,192 7,500
= 43,616 26,116 17,500
308 AHXIHMSOIH 124,616 74,616 50,000
= 62,308 37,308 25,000
= 18,692 1,192 7,500
= 43,616 26,116 17,500
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2A:
X XH -
o e

=aak

A - B - SA(SA) - N - BES Ofl &F2H I8N Hws2
183 SV 2SS & AE AL 124,616 74,616 50,000
o MASE JIMFH ZME2R K& At
EFE 929,970 134 124,616 74,616 50,000
= 62,308 37,308 25,000
= 18,692 1,192 7,500
s 43,616 26,116 17,500
Ol=0t ¥ S&&-0&0F 2=l X 3,860 1,360 2,500
Jl 1,930 680 1,250
= 965 340 625
[ias 965 340 625
307 212t01™ 3,860 1,360 2,500
J| 1,930 680 1,250
== 965 340 625
[ia 965 340 625
0122 2 3= 3,860 1,360 2,500
o0|=0t ¥ &FE0I&0F 22|
ZE 772,000 x5 3,860 1,360 2,500
J| 1,930 680 1,250
s 965 340 625
a 965 340 625
SEA HEAAN Y EFI] K- 104 64 40
J| 52 32 20
S 26 16 10
= 26 16 10
307 212+01& 104 64 40
Il 52 32 20
S 26 16 10
fia 26 16 10
0122 € /=4 104 64 40
ofddH HEAAM L BHI(HHIAH], A
22l S) ZE 26,0002 43 104 64 40
Il 52 32 20
S 26 16 10
= 26 16 10
=0t LN HZ ZAI 495 621 A126
Il 3% 497 A 101
ia N 124 A25
307 212t01& 495 621 A126
J| 3% 497 A 101
s N 124 A5
0122 ¥ 3/=H] 495 621 A126
oHR0 LSO HLBAI
ZE 99,0002+ 495 621 A126
Jl 3% 497 A 101
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SN ALBHD
M AR 229G
&l MEAMDFSHM =X (CH9: &S1)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I8 Hlus2
| = 9% 124 A5
22 HAS 1,263,600 947,800 315,800
301 22N = 1,237,100 921,300 315,800
02 AR EZAGIZ(FHAAE, RLTHR) 1,184,800 881,000 303,800
oZAT AMOIA=Hl XIS 1,184,800 881,000 303,800
-2023E O|A SMoHZIIE)
& 450,000 362 *43] 64,800 81,000 216,200
-2023E 0|% SMOHEIIE)
Z & 500,000 «3002& *42] 600,000 450,000 150,000
2025 EM0F LAIZ
2 & 2,000,000&*260*12] 520,000 350,000 170,000
14 J|EL2 A2 52,000 40,000 2,000
CBMIIE BNECIES
3 200,000 260 52,000 40,000 12,000
LdE2H 24 1,017,933 977,959 39,974
= 1,000 1,000 0
s 75,554 75,554 0
J| 203,845 183,858 19,987
s 73,206 73,206 0
a 664,328 644,341 19,987
L2 E2HA 885,499 845,525 39,974
= 1,000 1,000 0
s 75,554 75,554 0
Il 170,560 180,573 19,987
=S 24,963 24,963 0
ia 613,422 503,435 19,987
22HA Ag2AENE 22 A - DEY 28 S 243,900 203,900 40,000
SIS
Il 121,950 101,950 20,000
[ias 121,950 101,950 20,000
201 el 30,374 22,684 7,690
J| 15,187 11,342 3,845
s 15,187 11,342 3,845
01 AtR22te|bl 27,960 20,270 7,690
oA EE=S MA
ZE 4,0003+40001+95 14,400 8,000 6,400
Il 7,200 4,000 3,200
i 7,200 4,000 3,200
=JIE AIREE
d& 20,0003 8562 960 270 690
Il 480 135 345
s 480 135 345
cWFHE EU 25,0002 +24H 600 600
Il 300 300
Ea 300 300
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FA ABSL
M UREA 29
Rl HEZAAE (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
307 2Ito1d 189,026 166,016 23,010
2l 9,513 83,008 11,505
= 94,513 83,008 11,505
0122 & 3= 189,026 166,016 23,010
oSEA g A& AE
10,0002 *1007H 1,000 1,000
) 500 0 500
i 500 0 500
cNEERYE FHE FAHFI)
50,0003 %100 5,000 0 5,000
pJ 2,500 0 2,500
= 2,500 0 2,500
oJIEt YEARE S
3,500 %2,43001 23] 17,010 0 17,010
) 8,505 0 8,505
o 8,505 0 8,505
405 AHAHE S 9,300 0 9,300
pJ 4,650 0 4,650
= 4,650 0 4,650
01 TR ESF SHI 9,300 0 9,300
cNEE LE=S 2,000,000 *17H 2,000 0 2,000
2l 1,000 0 1,000
= 1,000 0 1,000
o NSHE Xt 300,000 *6H 1,800 0 1,800
) 900 0 900
i 900 0 900
ol SHE S8 4,500,000 *1CH 4,500 0 4,500
pJ 2,250 0 2,250
i 2,250 0 2,250
cnsd HIISS 200,000 *5H 1,000 0 1,000
2l 500 0 500
= 500 0 500
NS 2HAE Rf=Atel &= A&225 WSAY 1,8%4 1,910 N6
) 942 955 213
= 942 955 A3
201 LEer2 | 1,84 1,910 AV
pJ 942 955 213
= 942 955 213
01 At2teltl 1,884 1,910 aVed
oSG2 AAY AHLe W=
Zd 1,884,000 +12H+13] 1,884 1,910 N6
2l 942 955 A3
= 942 955 213
e 24 234,458 239,668 25,210
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FA ALS
3 Ju2A 2g
ol BA2AAMY (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b Il & o SimE==t
= 13,450 29,250 15,800
2l 9,389 89,119 7,270
< 31,884 30,888 9%
i R,735 90,411 2,324
FAEAA 234,458 239,668 25,210
= 13,450 29,250 15,800
2l 96,389 89,119 7,270
= 31,884 30,888 9%
= 92,735 90,411 2,324
=0l OIS AA 15,500 35,250 A19,750
= 12,400 28,200 15,800
< 930 2,115 A1,185
= 2,170 4,935 N2,765
308 AXIHS0IA 15,500 35,250 A19,750
= 12,400 28,200 15,800
< 930 2,115 A1,185
z 2,170 4,935 N2,765
18 SO 2ASHUEHE 4N AE AR 15,500 35,250 19,750
od=0 DIS&EA AH
&4 15,500,000 15,500 35,250 A19,750
= 12,400 28,200 15,800
< 930 2,115 A1,185
i 2,170 4,935 N2,765
HIBES s 28 14,540 0 14,540
Jl 7,270 0 7,270
< 2,181 0 2,181
i 5,089 0 5,089
201 Let=d] 12,540 0 12,540
2l 6,270 0 6,270
< 1,881 0 1,881
= 4,389 0 4,389
01 AFR2telHl 12,540 0 12,540
oA 28 EEE
5,000 x2Z+800H 8,000 0 8,000
2l 4,000 0 4,000
< 1,200 0 1,200
= 2,800 0 2,800
o@£0, i S M
60,0002 *507H 3,000 0 3,000
2l 1,500 0 1,500
< 450 0 450
= 1,050 0 1,050
SARES 270,000 23 540 0 540
2l 270 0 270
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FA ALS
3 Ju2A 2g
ol BA2AAMY (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
< 81 0 81
i 189 0 189
odEES 2yt & MH
100,000 * 1074 1,000 0 1,000
Jl 500 0 500
< 150 0 150
i 350 0 350
206 M=Hl 2,000 0 2,000
Jl 1,000 0 1,000
< 300 0 300
i 700 0 700
01 M=Hl 2,000 0 2,000
ol T2 M=
20,0002 20 #53 2,000 0 2,000
Jl 1,000 0 1,000
< 300 0 300
i 700 0 700
Heas(HBsa) 96,402 2,279 94,123
RSP 9,402 2,279 A,123
RSN 9,402 2,279 A,123
802 gtet=0|Et 9,402 2,279 9,123
01 3 NEXSEES 58,880 1,271 57,609
<2024 Al - [oT ({2 AID[8F A2t MHIAAL
& (OIXtEE) 312,630 313 0 313
©2023E XIATaoe & FAALSTAI(
OIxH) 19,350 20 0 20
o20234 AT JAATSXHE KHE AL
& o1 XA(0IXEE) 2,341,7008 2,342 0 2,342
o2024E M= DISSEXAF RIYAH (0IXHEE)
18,213,680& 18,214 0 18,214
o20243 Hergol82 XI&(0IR
2,586,690 2,587 0 2,587
o204 XGRS SHXAAMHIAA(
Ol Xt E) 667,400 668 0 668
o024 0|=0t & Hd&H0l40t 2/=ZHl K&
AH(OIR}) 2,980 3 0 3
o024 SEGUAOIY A & 2totate] X
AL (OIR}) 2,580 3 0 3
o248 HEd HEAAMN & 2FHI X
45,5003 46 0 46
o20238 R0t A S A
33,580 34 0 4
=2024E XSG ALS| A2 AHOIRH)
482,010 483 0 483
o044 S0 HLB A (0
Xt 7303 1 0 1
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S ALSTD
H: WSS (AHLSE)
& BEEXE (CH9: &S1)
A -3 - A4A(3H) - MRAY - BES Ofl AroH Il 8 N Hln=2
o4E NEASTHS2UP ALY TS RHH
(IPAES=) 657,2102 658 0 658
o2024E DN AAKR O|2H|XIR (OIXFEE)
3,583,300 3,589 0 3,589
o24E HASE JINH ZNES KIRA(
OIXFEL &) 25,038,000 25,038 0 25,038
o024 MOHED| H2A22IAFY (01 KHEE)
1,888, 150 1,889 0 1,889
o2024E AAMALE A2 22| X (0IKHEE)
1,608,550 1,609 0 1,609
o204 HMAEAD AAMEA O|2H| XK (0]
XS 111,120&4 112 0 112
02 Al - SHIEZZ2BE2 37,522 1,008 36,514
o024 Al - loT ({2AID[8F A2 MHIAAL
(0| RHZEE) 62,130 63 0 63
o2024E FAHZS HABX(0IX)
4,3102 5 0 5
o024 AENIC| 2| KA (0| KL E)
18,694,390 18,695 0 18,695
o024 THOHLE K22 A (OIX})
9,9802 10 0 10
©2023E XX FANIE 2 HAALSE A
Ol Xt) 5,800 6 0 6
o2023E Al HAHLSXIHE KHarofl 2 A
o ol XIA(0|KHEE) 696, 150 697 0 697
o024 =01 DISEXF XIR A (OIKHEE)
1,366,200 1,367 0 1,367
o2024E ADAIMOL HAARR| 2oREZ =
IR (0| KL &) 22,290 23 0 23
o2024E X WE Al=H| XILAF(OIXL)
2,60024 3 0 3
o204 ®MUHE Lol AlEH| XIRIAFY (OIXt
o8 2,500,930 2,501 0 2,501
o4E HEE LS8 AlsH| XA (0]
x+) 60,0002 60 0 60
o04E HARE Al=H| T =IF XIRAR(
Ol Xt) 4,5102 5 0 5
o024 BHet Ll Al=H| KIAFS (01X 2
gh) 543,620 544 0 544
o4 ool X2 (01X
417,850 418 0 418
o2024E HASE JIMH ZHES KIRAFA(
Ol XtELE) 7,511,410& 7,512 0 7,512
o2024E NS LA O|2H|XIR (O XL E)
1,795,210 1,79 0 1,79
20243 MOHED| H2LZHEIAF (OIXHEE)
944,070 945 0 945
o2024E AAAIE A2 22| XIR (0| KHEE)
806,000 806 0 806
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SN LS
M HRES(ALSEDL)
e BENE CLEE)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
o024 HAEAMD AMEA o|=2H| XA (0|
KL 55,560& 56 56
20244 XIGAISIZ4 SHRIZMEIAA(
OIKtEE) 133,450& 134 134
o2024F AR AIMOF A2 2te] FOLKIA (XHA)
(OIXH) 76,250& 7 7
o24E EADIE U2 MAEXe| KIJAA (0l
xh) 67,4802 68 68
o2024E ADAIMOE A22te] XIR(FE) (0l
) 125, 100& 126 126
o224 CHAUHAESIIEM N E JtE ==
= KA 595,200& 5% 5%

A
=
ooPAE BBASELIR LBE XIAA(Ol

4803

- 297 -




